

EDUCATION & TRAINING
FOUNDATION

CENTRES FOR
EXCELLENCE IN MATHS

2.11.2022
multiplying algebraic expression.

$$-3(1x-2) = 3x-5$$

$$1x^2 = 3x^2$$

$$c+4x=$$

$$w-x+3-4x-4=$$

$$-5x+1$$

$$5) x^2 + 2x - 2x^2 =$$

$$2x - x^2$$

$$6) -4x + 1 + 5x + 3 =$$

$$x + 4$$

$$7) 3x - x^4 + 5x + 2x^2 =$$

FE MATHS MASTERY

RESOURCES

Visit our resource hub
to find out more about:



Teaching & learning
resources

Evidence for what
works in FE maths

Professional
development tools

Whole College
Approach guidance